Exercise 1.2.4, page 54
from Introduction to Tensor Calculus by J.H. Heinbockel

Consider the Lorentz transformation from relativity theory having the velocity
parameter V, c is the speed of light and z* = t is time.

zt—Va?
=1 1 1 VJ1-Y2
%2 x2 m2 2"
T T T T
== Ty JEI where Ty N T . If we let
z* z* xt wi- Vg
—
N o\ — 3 ‘ zl—va?t
()t 0o oz oy [
0 1 0 0 2 z?
TV = 0 0 1 0 , thenTV .’L‘3 = x3
_1 4 vzl
1% 1—L2 2 2 -3 x4 z - 2
EE 00 (i) =
Show this set of transformations is a group, by establishing:
(1) V =0 gives the identity transformation, Tp.
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